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I. ' ̂

^^.0 .

51. PiHRriRad

^  ̂HP^Rrld ̂  "fen t ?

(A) 3fefeT (B) "SftT^

(C) ̂ d,yd>Jl (D)

52. PiHfcrlPsld "^' ^ fe?

t ?

(A)

(B)

(C) -snfeH

(D) ̂

53. PlHfdfed ^ ̂TO (sffe)

^ 3|nr t ?

(A) "^RPfer

.  (B) ^

(C) "^rferf^i^

(D)' "felt "fefer

54. 3TFTM ^(r«b Pi^^RiRsia '^* "IfeT

^  t" ?

(A) "5^ "^TNTT sNf 4* ^Pft

(B) AR4>" «rfet f^wK

(C) ^

(D) diilidd .-qf^ ̂  fedR

(3)S/3/2022/A

51. Which one of the following is ;7o/

included in the process of environmental

analysis ?

(A) Scanning (B) Sampling

(C) Monitoring . (D) Forecasting

52. Maastricht treaty is concerned with one

of the following :

(A) European Union

(B) EFTA

(C) ASEAN

(D) SAARC
(

53. Which of the following is not an

instrument of Fiscal Policy ?

■(A) Taxation

(B) Deficit Financing

(C) Public Expenditure

(D) Private Investment

54. Tariff Barriers^ are- not ■ concerned with

- one of the folloSymigi : ' " ^ '

(A).',-.'Reduction in'pree.Trade Zones"

(B) Expansion of,Tariff Bindings ■

(C) Reduction m the" Tariff Rates ,

(D) Expansion of Iputy -Free Access

■  P.T.O..

* (
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^1^ m

55M ri^RiRsia''''T^' TTW'!t%T|Tf}tf-
IgiiiO'i.' ir> ' •' 't' '*;rij

WTTmr <5ti<siNcq ^
r:l< ifJlH.

t ? . ,, V
;jfiilniriL<': :c.j) •■ o'f^. {/'.)

■ ri n i i n n ̂ /i (0}

(B) ciTTxpft

,  (C)

(D) 3ftf^ f,; .- (/j

56. IrofeTfer ^ '"^HNir'f^ePT

^  t ?• /■ . :v;/. Ot

(A) qMK cfTT Al'. ;C! ;

(B) ^ ,^-41^h ■^-..
flfi \0;\ 'r'A ' ''-" ' ' ' ''''

■^T^TOT ., , ̂
•i' vaiioM i^oai I lO •n:irni<-r?f:i

(C) TO "RfcfTO WN
fK H'r/jH (A;

(D) ^ U
^njofffifiri jiOii-'J (iJi

•^hPi-hi srVi^iRcii ^-iMldd
O'juJ rbfi6fjyH oi idu )

Ifiyfnla'jvnl -jfuvn^'l tCl)

j 55.^^WhicIi'^he^of t'lie following is relafecT
^  'wilh^' corporate ' social

resporisiBiliiy^? ■'.'plF,']3f£ (A)

(A)^So'o'aI Aii^dit <' A

_. , (B)a CpmpanyjfAudit ^ t]-t c- .

(C) Government Audit

(D) Propriety Audit^-

l56. Which one of the following is nol

concerned with crossborder'inergcr ?

(A) Tapping Global Marker ■"

(B) Facilitating Foreign Listing of
iTTA--. •-■; p -

Indian companies
''■ riF hf tA

(C) Becoming hundred per cent Indian

Company

(D) Restructuring shareholdings^'' of
Indian companies ,in/.favour, of
global migration

57.

with
^ ̂  : griiv/ollol yfii lo eno a

(A)
<M > A' 'yyi'I !ii !ioij )oLyvT (7'.)

(A) PclMUH
■  (B)

TFu.o "io f.ou ■My'i/. ' 71}(B) TilH IctHUM
.  (C)

.  .. '."'.i ;Ar "•' ! I''' • 7
(C) ^icri'H'i NH"li i  (D)

-.^:A « r' ' >''u- y>A\
(D) Mh FtqtJn i

1

:T }-:t r"ri-1|~'-| A-?

' -'r

!•' ^1

r^l
♦'L
n

(3)S/372022/A t'\ '



V gjri#rMi{l^b^]lfe^d^i69?i^M^o^

"^orS)e?2noj lo uoiJiiavrioO (A)

(Aiii&^gno-J 'to nomi3vno3 (8)

iii/i 'to noilnavnoO (3)

(C) 35ifeTfe":fi 3fii 1o 3fiot4 (0)

bar, r nJ'ifjq oiB "l bar, 3 .St)

3ri) eni(ji a -f ;.c:tQ Cjitty ^rb rii rasaol
59. ^ H ^■
'lo fl3r'\i' rrn'J. 3 .'rjiiJira v/^n o ermR

^  "^* PiHfdfed
3'!C[i''. rif^ 'o ri-'b^S •.■"■'\v 3 bfii, a'iRfli sirl

^  ̂ t ?
r-.vot-jri- ■ -"i 'ao .'irjii'"U5q v/un oJ

(A) ^TNR nni-mrla

(B) c : c : ii (A)

(C) bV : df. ; Ob (0)

(D) " Oc : bV (3)
, , ̂  '-JihV^oa&A (Q)

60. 3T^<Rf^N "5^ ^ R^l'^ nchwT

.a3"a!-|: \7Hjpy'io' 3U3£t-yj.>oJ"(n ^jfanirrfiai
: 0) b3i"ib'i2run3" ?.i

. (A)
:.i\t. 3V-I3R3V.! tibiqij'...) (Aj

.  (B)
lAA C'Vif.333 iqi^nur) (H)

'™ =\A«o.ib.u,jao>M P) ;
(D) TOT ^Yoda 3fb1o 3fioi4 (Q)

(3)S/3/2022/A

-S.sfc

f58FTb?^^^KiGlT^on^fitlTef0llj&in^e£l^^ is

included'5 iii-'^cl^¥ific5Hofi^^^^<^^capital

transactions TRItFWT (A) ■

(A) PrivatP^f ^ (H)

(B) arrSiif ^
■(C) ^

Fl^TR15(D)^Coo^Sivfe S ■ b 3 3 .tb
^  0 ! f 31 ̂

59. Which one of the foliowinc isoielated
Kpl^lF PT I d if?>fP F ^

, with ,restrictions ^imposed , by .a
3 yfe t 353 b\I 153 BFFT FP^ 3 u3

government in respect of^ foreign
p3j-g-_]Tr^ IPTT . 5 c\i 153 FP13

investment in the country ?
•  : VlAPf bTff- ItiF^S FpTKP3

(A) WTO
S ; f 1 £ (A)

(B) TRIMS - •

(C) TRIPS

(D) GATS

c3 : d£ : Qb (a)

Qb : dc ; CV (0)

I%F if *3 (G)
60. Which country is the largest Quota-

ras Bfffder ^ SMfW ifejA
•TfllF IFcFi •■FTTFT-S- 153 p# ip. pjfi> W^v

■ ' (A) China
:  F.

; ̂ , ■ (B)- USA prpny -f]ij - (A)

■  . (C) Japari'T m> Fp-'F P^qPTF (8) '

(D) India ■K fer ra?;P^O)
■  ■ f3F I# ■^'F TtP^TF (G)

^^ ■ ' A\^S0S\P\1{§^



61. %q; ^

3TT??R W t ?

(A) fH^PHddl ^

(B) ^[^ciip^fii ^ -;fs::f|

(C) Tjyf ychdlch<u| ̂  Tig^y

(D) ^

62. E F 5 : 3 i? ^

^  t I G ̂  ̂ ̂

^  H "g^r t i

E  1/4 ̂  t 3TR F

11^ 2/5 t I BT'4-'?7Fi

(A) 5:3:2

(B) 49 : 36 : 75 '

(C) 75 : 36 ; 49

(D) "4' ^

63. ■HHdi 3T^ ^

^•^1 ^ ̂  3RR^ 1%^ TsHcIT
v^

^ :

(A) ^

(B) WIRT

(C)

(D) ^ ^

(3)S/3/2022/A

61. What is the basis of accounting'for
provision for bad and doubtful debts ?

(A) Convention of consistency

(B) Convention of conservatism

(C) Convention of full disclosure

(D) None of the above

62. E and F are partners, sharing profits and

losses in the ratio of 5 : 3. G joins the

firms as a new partner. E gives l/4th of

his share and F gives 2/5lh of his share

to new partner. Find out new profit-loss

sharing ratio :

(A) 5 : 3 : 2

(B) 49 : 36 : 75

(C) 75 : 36 : 49

(D) None of the above

63. The balance of share forfeited account

remaining after re-issue of equity shares,
is transferred to :

(A) Capital Reserve A/c

(B) General Reserve A/c

(C) Profit and Loss A/c

(D) None of the above



i

I  64. ^ t :

■  ̂ 1500

j  3m ? 1,20,000 "^* 1^ I
sM* ̂  3ffeT ^ 100 "3% 3m

? 1,50,000 I
I

^ i^^lJid ^."4' ilw

1,02,000 I

3mT ̂  Mlf^l ^ ̂niMd TJcI 3T?il ^qidl

j  ■^* 31^ ^ "^if^ M<^R|c1 ^ :
(A) wfn ^ ^ 72,000

(B) ^ ? 72,000

(C) ^ r 48,000

(D) ^ ^ ? 48,000

65. fw "W ^ :

^  (^)

2021-22 1,20,000

2022-23 1,40,000

3j^Hid "t :

(A) 5%

(B) 20%

(C) 25%

(D) ^ ^

-(3)S/3/2022/A

^ HBTcT (?^)

1,22,000

1,37,000

64. Given :

Holding company acquires 1500 shares

of subsidiary company at ? 1,20,000.

Face value of share ? 100 each =

? 1,50,000.

Shares in capital loss - of subsidiary

company ? 1,02,000.

The difference amount between cost of

acquisition of shares and paid up value

of share indicates :

(A) Goodwill ^ 72,000

(B) Capital Reserve ? 72,000

(C) Goodwill ? 48,000

(D) Capital Reserve ? 48,000

65. Given :

Year

2021-22

2022-23 1,40,000

Profit-volume ratio is :

(A) 5%

(B) 20%

(C) 25%

(D) None of the above

Sales (?) Total Cost (?)

1,20,000 1,22,000 '

1,37,000' ■

P.T.O.



m■ê
66. X ^ 4.5 : 1

3 : 1 t I ? ^,Q.p^Qp %^\
^  t : .. , „'JlrCi p.'jnijp..c vin-i(jmoQ gniiMoH

,000..^^] f f'^Bqmoo

67. TTpm ^ ^

•^)iIif5qqiHT-s<r3i
(A) ^ V^ ?^Tj^Ci?lT5^ >/n;jqrfiu'y

lo l^'(B) lo^H^lcrc^^i o.HT«seiariyi'jnib 'vfl!
oijl) /(Gi) lo [io:\ir.Lii^yjv,

(D)/ f.jin-j'b'ii oujjIp'io

68.

^ '^Wo,::'\' y •ynj,-j'y\ [r.nqn ^
(A) llii/IjouO t'^.
(B) immi-

'f;u.81- V oy\'jyj/i ':;j!nuj r! -

(C) ^

(D) ^ ^
{>• ■'• > > *1. ' - ' (T'j yjl.y'. "suoV

69.- PiHRHnsjd TOT. t ?
0( -' . ' . U'jO, -y..i Li-i-jJ-

"t !
:  ;4 orJ n oi'"j!o^'~3!if.. i

(B) ^ T^o^rf^ ^

"wq "qftspT t" I
:?oi {H-(C) (A) 3Tk (B)

\.'j'

66. Current ratio is 4.5 : 1 and quicR-ffio
is 3 : 1 of X Ltd. Inyenioryiis ^■;60,000.

Then^,unt.of currentJiabilities.is :
UUCi >v 'FP-vV .^''T-lrF/ r

(A) ? 40,000 fB) ? 4,000
1  PIW hjt? Ff OFiO.t).. .1 > Iff.:

(C) ? 90,000 (D) ? 9,000
^W' ro: 001 ^ bP>^R

67. In order to solve the
!  i'0{;^0c,j /■

evaluation of human resources, the
of

nibdelfis .vi !■

(A) Lev and Schwartz'sjmodell >

Ti;v>s
,  (C) Harmanson's model
0, qv'-- 'T q- .'•:

(D) All of the above '

01,■; ',p V F- ■ ~!^ (J )
68. Accounting Standard Board was

constituted by (IJ)

(A) Finance Department ^ _
')' '" ji- ' ">. (

(B) The Institute of Chartered

Accountants ""of India

(C) Reserve Bank of India
I  I r

(D) None of the above

(D) ^ ^ ^
\ lo jfjcW (U

(3)S/3/2022/A

.0.1. ■

(X) oy-i'''' \}) vy-Kr"*
1 69. Which of the following statements is

,  . OOO.ul- ! .. . . .•
true ?

"Auditor does'work as a'valuer

(B) Valuation of asset's is, intensive
checking of value of assetsi/ '

(C) Both (A) and (B) ,. . ,
.. 'Ji r V ;

(D) None of the above
d'VF (0)

'p?F fy tV fp^" (CO

A\^S0£\S\3{S)
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'lo Errnoi rti "^o soi'iH XV
70. t :

:  'tix.^v}hi ^\ rJotJ-ioqYfl -I'-l.-snuxpa-i

(A) "0^* ^
>(iinU ffi-Mb ('''•)

(B) ^ ^
/lirtU rtnrlj --/[nl/i iH)

V^' T^WT^

/fiiil I 0/ !/ I'p'J ' 1 M
(C) (A) 3tR (B)

(D) ^ ̂
A  'M)

71. ^

^MV'i3T5^^' ^ Rid' "SITcTT % I

tjl^K ,fHH (Tf "^i}Rii'1

i%^' ̂  t ? ,
'ir. vrl. 1. :;' I :?J

(A) A ^ ;pRT
i ..//'in^ in iff.'Jiv/ ./udn oiIjV il'jfi -Cl)
(B) 'm ̂  1^ Tj;^' TTFT

-'■^C) "^ffcf'^^*'''^' '■^^' ^ ■^*
.  nliHfLi'ri ynlv/ollol

(D) wm Tj;^ Pcisb^^di V

^ O'j'b. n''iiJJJ!,!!'''f''X "■■ O'Ji'jH '. AJ
72. 13^ ^ ^ ■d'c^a^x ^

rHMlTchtl

-  Joriflo u.Vl (tt)
(A) ^ ̂  ̂  ^

Hlfd^ t I •
t-'-.H' i^))

(By x^^Wter ^ ^

(C) TJcfnteR id)

(D) <i4^^ ^TTFlf

(3)S/3/2022/A

'(V T..^ pTiJ^TpT^S ■ HTfTdPTR' XV

70. Management Audit iS: jl , ,,r

(A) Audit of management processes and
functrbn^"'''

(B) A coniptiehensive ian4Tco'nstfuctive ■
examination of an organizational
,  if, T i^"/PT^T? W,

structure 01 an institution

(C) Both (A) and {0,

(D) None of the above
I  ; 'F^ T]^iR?F .t-X

71. Market Research is included under the

i  fidfii oWffiisinfes SionSnics.^'which of
the following subjects are studied junder

!  " nh->V'® l"lci .'-^1^ l,v>''l^'r•.>.
Market Research ?

j  (A) Consumer'^esife^ So^onsuiner
i7-p^ (G)

(B) Law of demand and differential

fjjipc W F!T'"f7 FFT.^ .cV
(C) Taxation policy, and Labour policy

:  V fbrPR" IfF ,
j  (D) Advertising and salesmanship
I  -, FPTF^-T'F biFt? TpFf^ fA)
72. A firm should adopt the profit
!  -Fr^k' m
1  maximisation objective for which of the
i

;  v-tfollowing reasons ? oryitr FFTF (L)
i
'; (A) Where the manager ofrthC' firm is

the owner of the firm
I  cT-'t' F"- F" I A

(B) In a perfectly competitive industry
\

;  where there are many firms

(C) Under monopoly ^ ^ ^ - \

(D) For all of the above reasons
3  -:x

P.T.O.



73. ^inaichK ^

■^Ind eiW :

(A) ^ ̂ ^ ̂  t

(B) ^ 3Tfe ^ f

(C) ^ ^ t

(D) -^Jfq ^ t

74. [^VcrlN^I :

(A) WTmrEI^ 3Rp t

(B) ^RqfT^ "S^ t

(C)

(D) dH^cKl 7]^

75. ^ "PHfoTfW ^ ©q^

1^ ^ t :

(A) - -STf^I^arFPT +

3TPT "SnM,

(B) 3TO = yfd^NH - 3pr

(Cj ^frtcT 11% = sm 3J7qR -r-' -Rf^m

■hto"'

(D) -4* ^

73. Price elasticity of demand in terms of

rectangular hyperbola is always : -

(A) Less than Unity

(B) More than Unity

(C) Equal to Unity

(D) Zero

74. Indifference curve analysis :

(A) Offers a cardinal approach

(B) Offers a ordinal approach

(C) Both of the above coirect

(D) Both of the above wrong (incorrect)

75. The price effect can be expressed by the

following formula ;

,(A) Price effect = Substitution effect +

Income effect

(B) Price effect = Substitution effect -

Income effect

(C) Price' effect = Income effect -^-

Substitution effect

(D) None of the above

(3)S/3/2022/A 8



76. "sTjw T3;q[' Wn" ̂  sinm

^?Rf^ t :

(A) ̂(T^chlcrl, ^(rM=t)lQl

(B) 3icrMchi<n, ^{14=^101

(C) ^rH^biei

(D) . ̂ 4^icn

77. ^8H t ?

(A) 3fer eTTO ̂  3?Twr

^ ̂ t

(B) 5^twi ?fTO ̂  3TT^

^kn ■§

(C) 3fer MRc|dH!^nd BTO ^

"^klT t"

(D) ^IhH ^TTO ^ ^ ̂

t

78. "=1^ MM! 3Tf?^ dl-cjc^K "TT

(A) ^Ihci "f^rf^^ qT<a1 "i"

(B) 37fiR7 c^Ihci PiR^a ctKol "i"

(C) ^ ^ t

■  ' (D) fer "sri t

(3)S/3/2022/A !

76. The idea of 'proportion and scale' are

related respectively ;

(A) Short term, Short term

(B) Short term, Long term

(C) Long term, Short term

(D) Long term, Long term

77. Which statement is (rue ?

(A) The long run average cost curve is

the envelop curve ■

(B) Tlie short run average cost curve is

the envelop curve

(C) The average variable cost curve is

the envelop curve

(D) Marginal cost curve is envelop

curve

78. When the demand for the commodity is

more elastic, the monopoly fimi :

(A) sets low price

(B) sets a higher price . ^

(C) does not affect the price

(D) receives a stable price

P.T.O.



79. ^ ^ t :

(A) ̂  ̂ ̂

(B) ̂  ̂ ̂

(C) ̂  ̂ ̂ '^'R ■^*

(D) ^ ^

80. t ?

(A) xNfeM T^' "^hte^

'■^* 3^rM^lellH "RM

t

(B) ^

(C) "^^TTfTOi^ ■sj^ o^PT^

^rf^ "RM sOTT f .

(D) <1tf=hld t^i^TTfert WTFT

•RRT t

81., STR^ ^ "^Rsrf ^ ^ RT?3TR

ii m ^HFH I fer ^ ^
"^* "^jHcIT t" I

(A) 3TO

(B) "3^ ^

(C)'wit
P)

(3)S/3/2022/A 10

79. Skimming pricing is adopted in :

(A) Pricing of a new item

(B) Current commodity pricing

(C) Future commodity pricing

(D) None of the' above

80. "Which statement is true ?

(A) In tlie long run, the monopolist also

;  achieves the short run equilibrium

in tlie long run equilibrium

(B) There is no short run equilibrium in

the monopolist's equilibrium in the

long run

(C)' In the long run, the monopolist

suffers a loss in case of rising costs

(D) In the long run the monopolist earns

normal profits

81. Arav raised certain fimds through loan

from financial institutions. Hiis source of

fund is called as

(A) Share capital

(B) Borrowed fund

(C) Owner's capital

(D) Permanent capital



82. Pi*-ifcnf<sia ^ Mi<ii

t ?

(A) hR^I^tII Hiil

(B) feRT 37k -q^

(C) fefc ̂

(D) "q^

83. ^ 3T?T ^ ̂
efTO "W t" ?

(A) wn sM ̂  ̂imR

"qiR "^kn "I" I .

(B) 'm^ aM R ^

-JiiRsiH ^kn "I I

(C) aM ̂  "q^ 1^ aqfer
t* I

(D) ̂ rf^' qjt "3^ k* ̂  k*
^5ifeq ̂  f

84. "g;^ % q^t "R^ 3m ? 40,00,000

t, 100 •?. "Rfq am qr^ 40,000

am ̂ iiPHd f I "Rq^ 10% qrqq^' ̂

TTim ̂  ̂ 15,00,000 ̂  ̂ q^

qkm qqr "twt "I" 1 '®qN q qR "qw^

(EBIT) qRqqt q^ aij^mPid aqq

? 10,00,000 t 1 qR qft 20%
t I qfq am anq (EPS) w q^tf^ :

(A) ̂  100 (B) ? 17

(C) ̂  10 (D) ? 13.6

(3)S/3/2022/A

82. Wliich one of the following type of lease

is long-term, non-cancellable lease ?

(A) Operating lease

(B) Sale and lease back

(C) Financial lease

(D) Ordinary lease

83. Why is cost of debt capital less than tlie

cost of equity share capital ?

(A) Market value of equity shares is less

than debentures.

(B) Equity shares have less risk than

debt.

(C) Equity shares have higher risk than

debt.

(D) Debts have, higher "risk than bonds.

84. Puru Ltd. has a paid up share capital of

^ 40,00,000 consisting of 40,000 shares

of Rs. 100 each. The management is

planning to raise another ? 15,00,000

through 10% debentures. Company's

expected earnings before interest and tax

(EBIT) is ̂  10,00,000. Corporate tax rate '

is 20%. Calculate earning per share

(EPS) :

(A) ? 100 (B) ̂  17

(C) ? 10 , (D) ? 13.6

11 P.T.O,
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85. ^ ? 3,75.000 t 3k ̂  ̂ I 85. Compute pay-back period of project'A',
^ 93,750 t

if i

10 'A' ̂

(3Kmt' 3T^>) ^ WTT

^IRiy. ;

(A) 3.5 qf^

(B) 2.5 ̂

(C) 10^

(D) 4^

nvestment is ? 3,75,000 and annual

cash inflow is ? 93,750 and estimated'

life is 10 years :

(A) 3.5 years

(B) 2.5 years

(C) 10 years

(D) 4 years

86. Pi^RnRaci ^ %Tt 86. From the following figures, compute net

"TOI

40,000 30,000

^ 1%^ 20,000

10,000 25,000 I

(A) 35,000

(B) 15,000 ?.

(C) 80,000

(D) 45,000

working capital :

Debtors Rs. 40,000, Stock Rs. 30,000,

Bills payable Rs. 20,000,

Prepaid expenses Rs. 10,000,

Creditors Rs. 25,000.

(A) Rs. 35,000

(B) Rs. 15,000

(C) Rs. 80,000

(D) Rs. 45,000

(3)S/3/2022/A 12



87. 1¥=TfMw "5^

t ?

(A) ^ ̂ ̂ cPT t 1 ^

■R^ H«:hKlrH^ -^llRslH ^ "^TTTRT

t" I

(B) =h'=l< (^^) ^

c^^elFPT I

(C) "3^ tRn ^ ^ -f^

^f^FT d<l^ -(e^H "4'

■ychdl t, cjiqc^i "^RqW

t I

(D) qi^^l ^ "^^FTT "^' o^cjR^

'STRTFT t 1

88. "Fft ^ "RT "Rf^^jfcT^T^ ^ "RfefT "4' W
^ "RT^^TRi "Rf^Wt 3^ IStftor

Rfn^RRt "f^^iHiicl ■iH=hdI

t  I RfcI^Rl^^ui ^ RfeRT ■^*
Rf^Wt' '"^ £9l-Sdi< fgd1'M<^ ^hD^K

t I

(A)

(B) "3^^ "^T?R

(C) RRI sk ^WT RT^
(RPA)

(D) ^fe3 RT^ .

(3)S/3/2022/A 13

87. Which one of the following is not an

advantage of money market hedging ?

(A) Fixes the future rate, thus

eliminating downside risk exposure.

(B) Flexibility with regard to the

amount to be covered.

(C) Money market hedging may ■ be-

feasible as a way of hedging for

currencies, where forward contracts

are not available

(D) Simple to manage than' a forward'

contract

88. Broadly, the participants in* the process of

. securitization can be divided into primary

participants and secondary participants.

All the participants in the process of

securitization are secondary participants,

except :

(A) Obligors

(B) Special Purpose Vehicle

(C) Receiving and Paying Agent (RPA)

(D) Credit Enhancer

P.T.O.



89. Pi^RiRsid

t ?

(A) T^.^.37R. Hd"AM S^ftjctiK

^  f 3|R ^ I

(B) -q.^.STK., ^-Qi^.Tr. ^

'RR'rf ̂  ^

^ t 1

(C) ■q.'^,37R. Milsh^ "^TT^H t sIr

qMK ^cbf] "J I

(D) ^ ̂  ̂  ^

^lO Ph^l ^ ^T^kTT ^ I

90. ^ wn^, ^

*i5^ "^* sfR ^d: "3^ "^TRRit^
'^1^ %'; d^TRti "3^ ^s\i «(MK
"^^tqFTRf 1¥wi ^ ""q^" "qr

"^1f^'i" ^ "1%^ <rlJ|ldK ^Mdl

i, ̂  ̂  ̂sncTT t :

(A) 5RTf^

(B) IMwT ^

(C) ^WT

(D) ^[FTR

89. Which one of the following is wo/ a

characteristic of American Depository
Receipts (ADRs) ?

(A) The ADRs may or may not have

voting rights.

(B) The ADRs are issued in accordance

with the provisions laid by SEC,

' USA.

(C) The ADRs are bearer negotiable

,  instrument and the holder can sell

it in the market.

(D) The ADRs once sold cannot be

re-issued

90. Foreign exchange system in which

frequent and automatic small adjustments

in the par value of a currency would

occur as currency's market value

persistently presses against the 'floor' or

'ceiling' of allowable exchange rates is

known as :

(A) Crawling peg

(B) Floating exchange rate

(C) Balance of payment

(D) Balance of trade

(3)S/3/2022/A 14



91. ^ ^ ̂

3fk "RT?^ ^TOT: 48.35

■q;^ 51.05 a, ^ -RTr?^ ST^Rlto

(A) 53.40 (B) 49.70

(C) 49.25 (D) 50.15

92. ^ ^
3TWR "dt :

(A) ^MMN< "RIER (x) = liqhR "RT^^
(GM) = ^<kRcb •^\^ (HM)
(X = GM = HM)

(B) WTTRK (X) <
(GM) < WR^ (HM)
(X < GM < HM)

(C) WRRR "RT^^ (X) >
(GM) > WRRT "RT^^R (HM)
(X > GM > HM)

(D) -RRHRR "RTSR (x) > "BTRRRT "RT^ .
(HM) > (GM)
(X > HM > GM)

93. PlHPdRsid R^RIT 3TRfROT "RTR
|T( ^ ^ t ?

-  (A) ^

(B)

(C) P^^elH

(D) wr Pd-4<rH

(3)S/3/2022/A 1

91. In a moderately asymmetrical
distribution, if the mode and arithmetic
mean are 48.35 and 51.05 respectively,
then the estimated value, of median will
be :

(A) 53.40 (B) 49.70

(C) 49.25 (D) 50.15

92. In a distribution where original values

are differ in size, then :

(A) Arithmetic Mean (x) = Geometric
Mean (GM) = Harmonic Mean

(HM) (X = GM = HM)

(B) Arithmetic Mean (x) ̂  Geometric
Mean (GM) < Harmonic Mean

(HM) (X < GM < HM)

(C) Arithmetic Mean (x) ̂  Geometric
Mean (GM) > Harmonic Mean

(HM) (x > GM > HM)

(D) Arithmetic Mean (x) > Harmonic
Mean (HM) > Geometric Mean

(GM) (x > HM > GM)

93. Which of the following measures of
dispersion is independent of the
frequency of the given distribution ?

(A) Range

(B) Quartile Deviation

(C) Mean Deviation

(D) Standard Deviation
5  P.T.O.



94. "4' 0.6

t I '^m (Qj) 9.6 afk TTTfero
(M) 16.5 t I "3^* (Q3)

(A) 26.1

(B) 18.225

(C) 30.3

(D) 44.1

95. fq^eii ^ ̂ ̂

■3%^ "f^ "qfWT ^ ̂

WT t- :

(A) W-HRqcfn ^

(B) W-'MRqcFi ^

(C) ^-mRcJcIh ^ -qr^ 3fK

(D) dq^cKi ^

96. "qfer^ ^ ^ RihRiR^cI "^f ^ RhjH4il

"s^itwR ^ Ri«sia ^ yRimRd ^

^ ̂  t ?

(A) RprRt

(B) yiiRd^ Mitr<id

(C) fmw

(D) afR

94. In a distribution Bowley's coefficient of

skewness is 0.6. First Quartile (Q{) is 9.6
and Median (M) is 16.5. The Quartile
Third (Q3) will be :

(A) 2.6.1

(B) 18.225

(C) 30.3

(D) 44.1

95. Coefficient of correlation determined by
concurrent deviation method indicates the
following result only :

(A) Direction of co-variation

(B) Degree of co-variation

(C) Degree as well as direction of co

variation

" (D) None of the above

96. In the field of statistics, who among the

following is credited with propounding
the principle of regression ?

(A) Karl Pearson

(B) Sir Francis Galton

(C) Spearman

(D) Wallis and Roberts

(3)S/3/2022/A 16



97. ^

P(A) =

'3T' ^

^ wn

Pinf^Raci '^' t%T^ HiRichdi 3T^^^k'J|i

^ ̂?^TfeT t ?

(A) yiP^^dl ^ 37^wn

(B) yiP^cbdl ^ 37Tff%

(C) yiP^didl ^ f^-yfdPkid

(D) yiP^^dl ^ ST^WJTT

98. y^lHM yip^didl ^ ̂ t :

(A) [^HHCll "^IQII

(B) P^HHCll cildl

(C) PcjtJHdl

(D) Q^^lchf^cb

99. tsnrn PdHPdP^d Ph<H=hi

flOT t ?

(A) ̂ HllPd^ qrrftoTJT

(E) "WTI^^

(C) ipTT?R^

(D) WEfT^

(3)S/3/2022/A

97. The formula

Probability P(A) =

Number of cases favourable

to the event 'A'

Number of all possible cases

is based on the approach to probability

of which of the following ?

(A) Modern approach to probability

(B) Relative frequency approach to

probability

(C) Classical approach to probability

(D) Subjective or personalistic approach

to probability

98. A nonnal probability, curve is :

(A) Positively skewed

(B) Negatively skewed

(C) Zero skewed

(D) Leptokurotic .

99. Dichotomy classification is the part of

which of the following ?

(A) Geographical classification

(B) Clu'onological classification

(C) Classification according to attributes

(D) Numerical classification

17 P.T.O.



100. "HTsfeiT ^ V' wM

(A) ̂  mRi^viT

(B) ̂

'  (C) ̂  "q;^* ^ yPcKviT

(D) ^ ̂

101. q;^ WTTf^ ^

airq^-wi^ WR ^

f, cheeiicii f :

(A) ̂ ^HlH-cJlRcb

(B) "SfcI^UfW A(Jcm

(C)

(D)

102. PHHrdHsId MPwdd ̂  3lfdfe7

"^rfer % ?

(A) "qfW^

(B) FflWT^ ^

(C) ̂  ̂

(D) ferr^

(3)S/3/2022/A 18

100. V test is a useful tool for tlie testing of

significance in :

(A) Small samples

(B) Large samples

(C) Botli small and large samples

(D) None of the above

101. A social process in which people

interact face to face in small groups, is

called :

(A) Informal organisation

(B) Participative leadersliip

(C) Group conflict

(D) Group dynamics

102. Which of the following is mt the internal

force of change ?

(A) Change in leadership

(B) Decline in profitability

(0) Inadequate availability of labour

(D) Union activities



103. ^ ̂ wrmNH

RnfcriRsld ■^' wi^ ■^* 1^

^ctidi % ?

(A) WeNk

(B)

(C) smrr^

(D)

104. PmKH "^8#!^ TT^

WT ^ ^ ̂ -

t ?

(A)

(B) Pd^kd

(C) fBOT

■  (D) 3lf^7taT

105.

^ 3T#Rsff

(A) .

(B) ifer

(C) Risiei "q;^.

(D) "07^. ■s®c:^ ^Qi<

(3)S/3/2022/A

103. In which of the following delegation of

authority cannot be exercised smoothly ?

(A) Democratic structure

(B) Participative management

(C)" Bureaucratic structure

(D) All of the above

104. Establishing performance standards and

taking corrective measures are related to

which management function ?

(A) Direction

(B) Planning

(C) Control

(D) Motivation

105. Which French management consultant

has identified three types of relationship

to decide superior subordinate number ?

(A) Graicunas

(B) Keith Davis

(C) Lindall F. Urwick

(D) R W. Taylor
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106. RnR^Rsid ^ ̂  ^

■^* t ?

(A) (B) "RF^mT

(C) ^ (D)

107. PinRdRsld ■^* ^ cfipRTT cqr^ff^T^ iRididl

^  t ?

(A) ^ ^f%?r ci^triHI

(B) ^TWK ^ WT "q^ "fwn^ ^
^ ^WT

(C) ^i4-qlR4l ^ TH^T aRTO

^ c^q^K

(D)

108. ^ ^3^?^ t :

(A) erf^^^RR Timi ar^^rf^* '-^

arr^rftcr nr!^ 3Tf^^^ tocR

■^qoT^

(B) witM ^ ^

■  (C) 371^^* ^ (pool) ^ -qRqi

■(D) ^ ̂  371^ ^ ̂ IcTR "sffRlfM
cRR^T

106. Which of the following is /7o/ a

motivator factor of the two-factor

motivation theory propounded by

Herzberg ?

(A) Achievement (B) Recognition

(C) Work itself (D) Supervision

107. Which of the following is nol an

example of business ethics ?

(A) To charge fair price from customers

(B) Payment of taxes payable legally to

the government in time

(C) To give fair and equitable treatment

to employees

(D) To earn reasonable profit

108. The basic objective of selection is :

(A) To attract maximum number of

candidates so that more options are

available

(B) To choose best candidate out of the

available aspirants

(C) To prepare pool of applicants

(D) To stimulate people to apply for

■  job •

{3)S/3/2022/A 20
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•j\lz
■■*4_C

109. PinleiRsia ^

(A) ^

(B) ^?nTf% cH^l'chH

(C) hRuHMI

(D) oqRm o^Rki g.d'ii

no. PHHRrlfed ^ "^4^lR4l ^

TT^^lRiai" "3TWT "I" ?

(A) ^H^-WlPHod

(B) m ^

(C) P6K^^l(l

(D)

111. ^Kul-H R^ci "fer ^

^ '^m ^ t, ^ f ':

(A) ^ ̂

(B) ^

(C)

(D) ^

112. ^ 3P^Rf^

^ -qr t ?

(A) Rf (B)

(C) .-qi^FR (D) -51^

(3)S/3/2022/A 21

109. Which of the following is not a modern
method of performance appraisal ?

(A) Assessment centre method

(B) Human asset accounting method

(C) Appraisal by results or management
by objectives (MBO) method

(D) Man to man comparison method

110. Which of the following is not the

form of "Workers participation in

management" ?

(A) Co-ownership

(B) Membership of Trade Union

(C) Profit Sharing

(D) Joint Management Councils

111. The rate at which Reserve Bank of liidia

borrows money from other banks is

called :

(A) Repo rate

(B) Cash Reserve Ratio •

(C) Bank Rate

(D) Reverse Repo Rate

112.. Where is first International Stock

Exchange of India located ?

(A) New Delhi (B) Chennai

(C) Gandhinagar (D) ■ Mumbai

P.T.O,



113. rHHRriR^d

t ?

(A) (B)' 5nf.^.^.3Tr^.

(C) "i3:^."^."^.aTTf. (D) a^.^.^.TT.

114. n ̂  ^ ̂3^ I ^ ^

fncriM c^lPiiy, :

^I ^11

(a) -d^Pld. (I) "TO

tWH

(b) "^TM ̂  i3,Fi=«ch (2) Si^HId

(c) liuikMdi Tm (3) life, hRc|<^H

(d) fe" ^ (4) "5^: ^ .

:

(a) (b) (c) (d)

(A) (4) (2) (3) (1)

(B) (3) (1) (2) (4)

(C) (1) (3) (2) (4)

(D) (2) (1) (3) (4)

113. 'Which is not a financial institute from

the following :

(A) MUDRA . (B) LD.B.L "

(C) N.P.C.I. (D) LR.D.A.

114. Match the items of List H with the items

of List I ;

List I List II

(a) Selective

credit control

(b) Encourage

credit for

desirable use

(1) Consumer

credit

regulations

(2) Cash reserve

ratio

(c) Quantitative (3) Variation in

credit control margin

(d). Bank rate

Codes :

(4) Re-discounting

rate

(a) (b) (c) (d)

(A) (4) (2) (3) (1)

(B) (3) (1) (2) (4)

(C) (1) (3) (2) (4)

(D) (2) (1) (3) (4)

(3)S/3/2022/A 22



115. "fe' "^T^TOT "5^

(A) ̂ qei ^ "5^ '^*

(B) f^f^^rt ^S\i

(C) ̂ l-Mldch "Q;^* "Mcl^ ■^'
^Idl "3^^*

(D) toM ̂  3^

116. TO ^Mto ̂  1^ Wto

an ?

(A) o^lMlRdi

(B) «(*dil

(C) fM¥iW ^

(D) WTWt

117. 3^^ '^' 3^TO

W^ ^ "3^ "W «TT ?

(A) ^

(B) RcIW-H

(C)

(D) ^I5T

{3)S/3/2022/A

115. EXIM Bank provides financial assistance
in India :

(A) Only to importers in foreign
currency

(B) Only to exporters in foreign
currency

(C) To importers and exporters both in
Indian and foreign both currencies

(D) To exporters as subsidy in foreign
currency.

116. Which of the following were established

as special institutions for industrial

finance in India ?

(A) Commercial Banks

(B) Development Banks

"(C) Investment Banks

. (D) Rural Banks

117. With the cooperation of which industry

group 'Tap and Pay' payment service was
started ?

(A) Tech Mahindra

(B) Reliance Communication

(C) Infosys

(D) TATA

23 P.T.O,



118. ^

"^* ^ ^ ^silchKd

IQ; dl^hMM ^

"W ?

(A) "^Rfw^

(B) jiI^mIR^i

(C) <iHk<d "^rMr

(D) ^«^KN ypMPd

119. sr^TEjf^ dlpJlf^d) ■^* 3n

■^-PdtMKdl-M ■qfWRfcFTf ^ ^^TWTT ^

tiHiKi qfR^ ^ fei^ c^Ihh! oiRi'i H^sfd

"^371^ ^ "nl ?

(A) ^*[^'1

(B) ^ tf^

(C) ^

(D) ^ fer "tf^n

120. -fe ^ MRdtlH ^ "sftw ^ ̂

t : '

(A) ^Ka ^<=t)K ^ H^id^ ^KI

(B) ^ <|i^MPd OT

(C) -gRr

(D) ^ ^ 1JF R30fOT gRF

118. Accepted and then started Banking

Ombuds' Scheme, which committee, has

been recommended to improvement in

customer service from the following

committees ?

(A) Narsimham Committee

(B) Goiporiya Committee

(C) Damodaran Committee

(D) D. Subbarao Committee

119. For removal of problem arising about

non-performing assets in Scheduled

Commercial Banks, which tj'pe of

Banking System was started ?

(A) Universal Banking

(B) Core Banking

(C) Bed Banking

(D) Small Finance Banking

120. Changes in Bank Rate is announced

by:

(A) Finance Ministry of GOI

(B) President of India

(C) Reserve Bank of India

(D) Home Ministry of GOI

(3)S/3/2022/A 24
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121. PlHRriRslci ^ ̂  ^iTTTjj]

t ?

(A)

(B)

(C) f^RlM chlitrK

-  -(D) WfU

122. oTRK ̂  "IT^ ^5l5[ dch^i EZfH

3^|ci5»^cbdi 'm\ t, ch^Qildl t :

(A) (B) (7^^)

(C) ■^8^^ (D) "fe

123. fef^FT t :

(A) ^

(B) ^

(C) "^RR f^^TTspT ^

(D) -qferf^ ^

124: i™ t :

(A) 1%^

(C)

(3)S/3/2022/A

(B)

(D) TJ?7.^.3TR '

121. Which of the following- is world's

leading Marketing Guru ?

(A) Peter Drucker

(B) C. K. Prahalad

■ (C) Pliilip Kotler

(D) Stephen Robbins

122. A small slice of the market requiring

special attention is called :

(A) Niche (B) Segment

(C) Target market (D) Fad*

123. Skimming is a strategy of

(A) Pricing

(B) NPD

(C) Market Segmentation

(P) Positioning

124. DAGMAR refers to :

(A) Advertising (B) Targeting

(C) Positioning (D) MPR
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125. fkWT t :

(A)

(B) ^'icn ^

(C)" ^

(D) ^

126. "f^ A TTli "fel

TTfg^ ^ WT f ?

(A) i^.^.

(B) ^fro

(C) TRTfe^TOcq^

(D) .-^Fwn ifeT

127. :

(A) ̂ l'^Rl<=h ^iK=ti %

(B) wrf^ t

(C) oqr^kiMd t

(D) Mdl^^llPdch t

t ?

(A)

(B)

(C) Tito

(D) ^ ̂  ̂

(3)S/3/2022/A

125. Direct marketing channel is an example

of :

(A) Single level channel

(B) Zero level channel

(C) Sales promotion

(D) Marketing public relations

126. The central and peripheral routes to

persuasion are part of which model ?

(A) EKB model

(B) Black box model

(C) Psychoanalytical model

(D) Elaboration likelihood model

127. Reference group is a :

(A) Cultural factor

(B) Social factor

(C) Personal factor

(D) Psychographic factor

128. Cognitive dissonance reduction is related

to :

(A) Pre-buying behaviour

(B) Selling

(C) Decision process

(D) Post-purchase behaviour

26



129. ^ iilirMd t ?

(A) ̂  (B) W

(C) (D)

130. "^if^ mR'mI^'II Rti<H yinl^l

[clM"t1 % ?

(A) (B)

(C) it-0:0^ (D) "OT .

131. 3TRriwT i" feii tot

^ civile! TT ilpMa

"ni t ?

(A) 04

(C) 03

(B) 05

(D) 06

132. 3#TiTO ̂  TO 6 ̂  sT^rnr

"TOi iroi TOTT Wn ̂  ?

(A) 02

(C) 04

(B) 03

(D) 06

133. "TOT TO 1to Rhtil ^ ^

TOKTUT ̂  "qr "^TOTTO 3TT^ ̂  ̂HTOI

^ :

(A) srof

(B) TTTTO4 SicTp

(C) HIHHI-^ ^

(D) 3RIITOn

(31S/3/2022/A

129. Triple bottom line includes :

(A) People (B) Planet

(C) Profit (D) All of these

130. Project Shakti is a rural marketing

initiative of which company ?

(A) ITC (B) HUL

(C) P & G (D) TATA

131. How many types of agreements have

been expressly declared as void in the

Indian Contract Act ?

(A) 04 (B) 05

(C) 03 (D) 06

132. As per Sale of Goods Act under Section

6, how many types of goods are there ?

(A) 02 (B) 03

(C) 04 (D) 06

133. If the cheque is dishonoured by bank

without any reason, the court can order :

(A) Exemplaiy compensation

(B) Ordinary compensation

(C) Nominal compensation

(D) Extraordinary compensation
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134. ̂  sm 1^.

■^.^.3Ti. PiMRiHsia '^' 1%^

t ?

(A) ch'ml -q;^ '1miR<^ ■^' t

(B) ^ 3TfeK "RT^

f

(C) t

(D) ^ few

135. "^KFff ^ wn ̂  w ^fet ffe^

"RTO ^ ̂  t ?

(A) 02

(B) 04

(C) 03

(D) 05

136. '^elfe ^jffe arTtrfew, 2008'

^ "RR^IPTT ^ ffe-ffe i%feTT ^ eTPJ^

ffer "W t ?

(A) 31 fe ^ 31 "R?, 2008

(B) 31 fe ^ 31 M, 2009

(C) 01 fe ^ 01 37^, 2008 "

(D) 01 ^ 01 M, 2009

(3)S/3/2022/A 28

134. The case of State Trading Corporation of

India Ltd. v^. C.T.O. is related lo which

of the following ?

(A) The company is not a citizen

(B) The company has not fundamental

rights

(C) The company is a legel person

(D) Resident status of the compajiy

135. How many types of company are there

on the basis of number of members ?

(A) 02

(B) 04

(C) 03

(D) 05

136. From which dates, the provisions of the

"Limited Liability Partnership Act,

2008", have been implemented ?

(A) 31 March and 31 May, 2008

(B) 31 March and 31 May, 2009

(C) 01 March and 01 April, 2008

(D) 01 March and 01 May, 2009



fc'J

137. 1999 ̂  WU :

(A) 15 1999 ^

(B) 1 2003 ^

(C)' 15 HhcIHI, 2003 ^

(D) 1 2000 ^

138. 'm ̂ iPcitchKT ^

31#T "f^ TO ̂  37TO^ ^ "^aTOT

-s

,  "? ?

(A) TO 100

(B) TO 103

(C) TO 101

(D) TO 102

139. TOT ^ TO t ?

(A) 4

(C) 2

(B) 3

(D) 1

140. ^ ^ TO 2(62)

TOto t :

(A) ^ ̂ .

(B) TRT ̂  ̂

(C) T^fi^ ̂

(D)
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137. Trade Mark Act, 1999 enforced fi-om :

(A) 15 September, 1999 "

(B) 1 April, 2003

(C) 15 September, 2003

(D) I January, 2000

138. Inventions and patents can be acquired

by Central Government under which

section ?

(A) Section 100

(B) Section 103

(C) Section 101

(D) Section 102

139. How many components are there in GST

in India ?

(A) 4

(C) 2

(B) 3

(D) 1

140. Input tax is related with under

Section 2(62) of Goods aiid Service Tax

Act.

(A) Central Tax

(B) State Tax

(C) Integrated Tax

(D) All of the above

P.T.O,



hiTJ5

141-. 3TFT^ ̂  ^ t :

(A) 3TFT^ 37rs?fwT

(B) fef OT

(C) -m

(D) ^ -m

142. 1961 ^

■^' clFJ^ f371 ?

(A) 1962-63

(B) 1981-82

(C) 1990-91 .

(D) 2000-01

143. "311^ r^41ci«H ^ 5TO

^  -

(A) 1.4.2020 ^ (B) 1.4.2021 ^

(C) 1.4.2023 ^ (D) 1.4.2022 ^

144. 3TB1 # 37FT^ ^

^-"5^ "w ?

(A) 1860

(C) 1939

(3)S/3/2022/A

(B) 1886

(D) 1961

141. Rate of Income Tax is fixed by :

(A) The Income Tax Act

(B) The Finance Act

(C) The Ordinance

(D) The Notification of C.B.D.T.

142. Income Tax Act, 1961 became effective

in Sikkim from the financial year :

(A) 1962-63

(B) 1981-82

(C) 1990-91

(D) 2000-01

143. Rule of "Virtual Digital Assets" enforced

in India fi'om :

(A) 1.4.2020

(C) 1.4.2023

(B) 1.4.2021

(D) 1.4.2022

144. In which Income Tax Act, agricultural

income was exempted from tax ?

(A) 1860

(C) 1939

(B) 1886

(D) 1961
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145. t ?

(A) 1961, 1 37^,

1962 ̂  I

(B) STPT ^ t 1

(C) ̂ 1-4 ^ "t I

(D) 3Tm ̂  "RHt

I

146. "im "^ ■^* "^" ^ t :

(A)
t

(B) 2#™t

(C) 3TOTWT

(D)

147. "M ^

M t :

(A) ^ 8,000 TO

(B)

(C) t 20,000 TO

(D) t 25,000 TO

{3)S/3/2022/A

145. Which statement is wrong ?

(A) Income Tax Act, 1961, came in

force since 1st April, 1962

(B) Only legal income is taxable

(C) Income tax is a direct tax

(D) Capital receipt cannot be treated as

taxable income

146. A company does not become the

following in previous year ;

(A) Ordinary Resident

(B) Non-Resident

(C) Not Ordinary Resident

(D) Resident

147. Reimbursement of medical bills of a

private hospital is exempted upto ;

(A) t 8,000

(B) ^ Zero

(C) ? 20,000

(D) t 25,000
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148. m ̂  2021-22 ^ A

^ ̂ 60,000 w iq; i 3ttot

3tMwt, 1961 ^ TO 25A ̂  3RTO

Tlf^ #Tt :

(A) ̂  60,000 (B) ̂  42,000

(C) ̂  40,000 (D) ? 30,000

149. SIFT ^ 3F1^

1961 ^ TOR t :

(A) TO 60 ̂  69

(B) TO 60 t 64

(C) -TO 60 ̂  67

(D) TO 68 ̂  69

150. TOPlt TOTOT TOTO 12%

^ ̂ "I" 'd'Hchl

3TRT StTto t :

(A) ̂  2 ^

(B) ̂  10

(C) ̂  1 ̂  ̂

.  (D) ? 5 ^

148. A received ^ 60,000 as arrears of rent

from house property during the previous

year 2021-22. The amount taxable under

Section 25A of Income Tax Act, 1961

would be :

(A) ̂  60,000 (B) ̂  42,000

(C) 40,000 (D) ? 30,000

149. Sections related to clubbing of income

under Income Tax Act, 1961 are :

(A) Section 60 to 69

(B) Section 60 to 64

(C) Section 60 to 67

(D) Section 68 to 69

150. Surcharge @ 12% is levied on company

(domestic) assessee if the total income

exceeds ;

(A) ? 2 crores

(B) ? 10 crores

(C) ? 1 crore

(D) ? 5 crores

f.

/.
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